
Applied Mathematics 3B

Assignment #8 Solution

1. We find

σxσy = −i|0〉〈1|0〉〈1|+ i|0〉〈1|1〉〈0| − i|1〉〈0|0〉〈1|+ i|1〉〈0|1〉〈0|
= i|0〉〈0| − i|1〉〈1| = iσz,

σyσx = −i|0〉〈1|0〉〈1| − i|0〉〈1|1〉〈0|+ i|1〉〈0|0〉〈1|+ i|1〉〈0|1〉〈0|
= −i|0〉〈0|+ i|1〉〈1| = −iσz,

σxσz = |0〉〈1|0〉〈0| − |0〉〈1|1〉〈1|+ |1〉〈0|0〉〈0| − |1〉〈0|1〉〈1|
= −|0〉〈1|+ |1〉〈0| = −iσy,

σzσx = |0〉〈0|0〉〈1|+ |0〉〈0|1〉〈0| − |1〉〈1|0〉〈1| − |1〉〈1|1〉〈0|
= |0〉〈1| − |1〉〈0| = iσy,

σyσz = −i|0〉〈1|0〉〈0|+ i|0〉〈1|1〉〈1|+ i|1〉〈0|0〉〈0| − i|1〉〈0|1〉〈1|
= i|0〉〈1|+ i|1〉〈0| = iσx,

σzσy = −i|0〉〈0|0〉〈1|+ i|0〉〈0|1〉〈0|+ i|1〉〈1|0〉〈1| − i|1〉〈1|1〉〈0|
= −i|0〉〈1| − i|1〉〈0| = −iσx.

2. We begin with the state

|ψ〉 :=
1

2
(|0〉 ⊗ |0〉 ⊗ |0〉 ⊗ |0〉+ |0〉 ⊗ |0〉 ⊗ |1〉 ⊗ |1〉+ |1〉 ⊗ |1〉 ⊗ |0〉 ⊗ |0〉+ |1〉 ⊗ |1〉 ⊗ |1〉 ⊗ |1〉).

(a) Expanding the second and third qubits in the Bell basis yields

|ψ〉 =
1

2
√

2
|0〉 ⊗ 1√

2
(|0〉 ⊗ |0〉+ |1〉 ⊗ |1〉)⊗ |0〉+

1

2
√

2
|0〉 ⊗ 1√

2
(|0〉 ⊗ |0〉 − |1〉 ⊗ |1〉)⊗ |0〉

+
1

2
√

2
|0〉 ⊗ 1√

2
(|0〉 ⊗ |1〉+ |1〉 ⊗ |0〉)⊗ |1〉+

1

2
√

2
|0〉 ⊗ 1√

2
(|0〉 ⊗ |1〉 − |1〉 ⊗ |0〉)⊗ |1〉

+
1

2
√

2
|1〉 ⊗ 1√

2
(|0〉 ⊗ |1〉+ |1〉 ⊗ |0〉)⊗ |0〉 − 1

2
√

2
|1〉 ⊗ 1√

2
(|0〉 ⊗ |1〉 − |1〉 ⊗ |0〉)⊗ |0〉

+
1

2
√

2
|1〉 ⊗ 1√

2
(|0〉 ⊗ |0〉+ |1〉 ⊗ |1〉)⊗ |1〉 − 1

2
√

2
|1〉 ⊗ 1√

2
(|0〉 ⊗ |0〉 − |1〉 ⊗ |1〉)⊗ |1〉.

(b) Note that

(UH ⊗ I2)UCNOT
1√
2

(|0〉 ⊗ |0〉+ |1〉 ⊗ |1〉) = |0〉 ⊗ |0〉,

(UH ⊗ I2)UCNOT
1√
2

(|0〉 ⊗ |0〉 − |1〉 ⊗ |1〉) = |1〉 ⊗ |0〉,

(UH ⊗ I2)UCNOT
1√
2

(|0〉 ⊗ |1〉+ |1〉 ⊗ |0〉) = |0〉 ⊗ |1〉,

(UH ⊗ I2)UCNOT
1√
2

(|0〉 ⊗ |1〉 − |1〉 ⊗ |0〉) = |1〉 ⊗ |1〉.

Now

(I2 ⊗ UH ⊗ I2 ⊗ I2)(I2 ⊗ UCNOT ⊗ I2)|ψ〉 =
1

2
√

2
|0〉 ⊗ |0〉 ⊗ |0〉 ⊗ |0〉+

1

2
√

2
|0〉 ⊗ |1〉 ⊗ |0〉 ⊗ |0〉



+
1

2
√

2
|0〉 ⊗ |0〉 ⊗ |1〉 ⊗ |1〉+

1

2
√

2
|0〉 ⊗ |1〉 ⊗ |1〉 ⊗ |1〉

+
1

2
√

2
|1〉 ⊗ |0〉 ⊗ |1〉 ⊗ |0〉 − 1

2
√

2
|1〉 ⊗ |1〉 ⊗ |1〉 ⊗ |0〉

+
1

2
√

2
|1〉 ⊗ |0〉 ⊗ |0〉 ⊗ |1〉 − 1

2
√

2
|1〉 ⊗ |1〉 ⊗ |0〉 ⊗ |1〉.

(c) Performing a measurement on the second and third qubit which can distinguish between |0〉 and |1〉| (for
example a measurement described by the observable |0〉〈0|) yields the states

State determined by measurement Resulting state
|0〉 ⊗ |0〉 1√

2
(|0〉 ⊗ |0〉 ⊗ |0〉 ⊗ |0〉+ |1〉 ⊗ |0〉 ⊗ |0〉 ⊗ |1〉)

|0〉 ⊗ |1〉 1√
2
(|0〉 ⊗ |0〉 ⊗ |1〉 ⊗ |1〉+ |1〉 ⊗ |0〉 ⊗ |1〉 ⊗ |0〉)

|1〉 ⊗ |0〉 1√
2
(|0〉 ⊗ |1〉 ⊗ |0〉 ⊗ |0〉 − |1〉 ⊗ |1〉 ⊗ |0〉 ⊗ |1〉)

|1〉 ⊗ |1〉 1√
2
(|0〉 ⊗ |1〉 ⊗ |1〉 ⊗ |1〉 − |1〉 ⊗ |1〉 ⊗ |1〉 ⊗ |0〉)

(d) It is convenent to omit the second and third qubits at this stage:

State determined by measurement of second and third qubit Resulting state of first and fourth qubit
|0〉 ⊗ |0〉 1√

2
(|0〉 ⊗ |0〉+ |1〉 ⊗ |1〉)

|0〉 ⊗ |1〉 1√
2
(|0〉 ⊗ |1〉+ |1〉 ⊗ |0〉) I2 ⊗ σx

|1〉 ⊗ |0〉 1√
2
(|0〉 ⊗ |0〉 − |1〉 ⊗ |1〉) I2 ⊗ σz

|1〉 ⊗ |1〉 1√
2
(|0〉 ⊗ |1〉 − |1〉 ⊗ |0〉) I2 ⊗ (σzσx)

The correction listed on the right hand side yields the original state

1√
2

(|0〉 ⊗ |0〉+ |1〉 ⊗ |1〉)

which is still entangled.


